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Statements:A2D=E;M<N=E;ASP

Conclusions: . '
LP>D

II.M<D

III. E>N

a) Only Il is true

b) Only 1 is true

¢) BothI and II are true
d) None is true

e) Either II or 111 is true



Statements:X<MSW;B2LZO; 0=X
Conclusions: . |
LB>M

ILMZ2B
MNLL<W

a) Only III is True

b) Both I and III are True
¢) Either I or Il is True

d) Both II and III are True
e) OnlyIlis True



Which of the following symbols should be placed in the

blank spaces respectively (in the same order from left to

right) in order to complete the given expression in such a
manner that “G > V” and “F 2 W” definitely holds true?’

E G WV

a) <, 2, <
b) 2, <

¢) <,>, =
d =2,>

e) None of the above



Which of the following symbols should be placed in the

blank spaces respectively (in the same order from left to

right) in order to complete the given expression in such a

manner that “P > S” definitely holds True?
P Q. =R__ =S

i), =, >
b -S ==
¢) <
d) <=,
<

e) <=



How many such pairs of digits are there in the number

'5982416' each of which has as many digits as between

-them in the number as are there in the general numerical

order (Both forward and backward) directions?

'5982416'ﬁm%@ﬁﬁﬁﬁ%%ﬁ?ﬁﬁum*m
ﬁamﬁmﬁﬁm%ﬁﬁmwm(m
3R o g feomren & 29 €2 |
a) One
b) Two
¢) Five
d) Three

e) Four




Six boxes L, M, N, O, P and Q are stacked one above the other but
not necessarily in the same order. Six items namely Books, Erasers,
Pen, Pencils, Sharpener and Stapler are kept in these six boxes but
not necessarily in the same order. Box L is kept at the top of the

- stack. Box M which contains Pencils is kept three boxes below the
Box L. Box N is kept immediately above the box which contains
Erasers. As many boxes are placed above the box N as many are
placed below the box that contains Sharpener. The box O contains
Pen and is kept below the box that contains Erasers. The box that
contains Books is not placed immediately above the box that
contains Erasers. Box P is placed above the box that contains
Pencils.
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Six boxes L, M, N, O, P and Q are stacked one above the other but
not necessarily in the same order. Six items namely Books, Erasers,
Pen, Pencils, Sharpener and Stapler are kept in these six boxes but
not necessarily in the same order. Box L is kept at the top of the
stack. Box M which contains Pencils is kept three boxes below the
Box L. Box N is kept immediately above the box which contains
Erasers. As many boxes are placed above the box N as many are
placed below the box that contains Sharpener. The box O contains
Pen and is kept below the box that contains Erasers. The box that
contains Books is not placed immediately above the box that
contains Erasers. Box P is placed above the box that contains
Pencils.

What item is kept in Box P?

a) Sharpener
b) Books

¢) Pencil

d) Erasers

e) Pen



Six boxes L, M, N, O, P and Q are stacked one above the other but
not necessarily in the same order. Six items namely Books, Erasers,
Pen, Pencils, Sharpener and Stapler are kept in these six boxes but
not necessarily in the same order. Box L is kept at the top of the
stack. Box M which contains Pencils is kept three boxes below the
Box L. Box N is kept immediately above the box which contains
Erasers. As many boxes are placed above the box N as many are
placed below the box that contains Sharpener. The box O contains
Pen and is kept below the box that contains Erasers. The box that
contains Books is not placed immediately above the box that
contains Erasers. Box P is placed above the box that contains
Pencils.

How many boxes are kept between the boxes which contains Books
and Pencil? '

a) Two
b) Three
¢) Four
d) One

e) Five



Six boxes L, M, N, O, P and Q are stacked one above the other but
not necessarily in the same order. Six items namely Books, Erasers,
Pen, Pencils, Sharpener and Stapler are kept in these six boxes but
not necessarily in the same order. Box L is kept at the top of the
stack. Box M which contains Pencils is kept three boxes below the
Box L. Box N is kept immediately above the box which contains
Erasers. As many boxes are placed above the box N as many are
placed below the box that contains Sharpener. The box O contains
Pen and is kept below the box that contains Erasers. The box that
contains Books is not placed immediately above the box that
contains Erasers. Box P is placed above the box that contains
Pencils.

How many boxes are kept between box N and the box that contains
Pen? '

a) Two
b) Three
¢) Four
d) One

e) Five



Six boxes L, M, N, O, P and Q are stacked one above the other but
not necessarily in the same order. Six items namely Books, Erasers,
Pen, Pencils, Sharpener and Stapler are kept in these six boxes but
not necessarily in the same order. Box L is kept at the top of the
stack. Box M which contains Pencils is kept three boxes below the
Box L. Box N is kept immediately above the box which contains
Erasers. As many boxes are placed above the box N as many are
placed below the box that contains Sharpener. The box O contains
Pen and is kept below the box that contains Erasers. The box that
contains Books is not placed immediately above the box that
contains Erasers. Box P is placed above the box that contains
Pencils.

In which box Books are kept?

a) BoxO
b) Box L
¢) BoxP
d) BoxQ

e) BoxN



Statements:

All chocolates are spicy

All spicy are sweets
Conclusions:

I. Some sweets are chocolates
I1. Some sweets are spicy

a) Only I follow

b) Only II follow

¢) Either I or II follows
d) Neither I nor II follows
e) BothlI and II follow



Statements:

Some silver are gold.

All gold are bronze

Some bronze are metals

Conclusions:

I. Atleast some metals are gold

I1. Some bronze being gold is a possibility
II1. Some bronze are definitely silver

a) Conclusions I and II follows
b) Conclusion II and III follows
¢) Conclusions I and III follows
d) Only conclusion III follow

e) All follows



Statements:

Some televisions are computers

No television is a printer

Conclusions:

I. No printer is a computer

I1I. Some computers are definitely not televisions

a) Only conclusion I follows

b) Only conclusion II follows

¢) Either conclusion I or II follows
d) Neither conclusion I nor II follows
e) Both conclusion I and II follows



Two buses i.e. bus M and bus N starts moving from two different
points and finally meet at point Y. Bus M starts moving from point
U in east direction. After moving S km, it turns right from point V,
it moves 6 km and then turns left from point W and moves 4 km till
“point X. Bus M then turns left from point X and moves 9 km till
point Y. Bus N starts moving from point A in east direction, after
moving 5 km, it turns left from point B and moves 8 km till point
C. Bus N then turns left from point C and moves 3 km till point D,
it then turns right from point D and moves 4 km till point E, it then
turns left from point E and moves 2 km till point Y.
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Two buses i.e. bus M and bus N starts moving from two different
points and finally meet at point Y. Bus M starts moving from point
U in east direction. After moving 5 km, it turns right from point V,
it moves 6 km and then turns left from point W and moves 4 km till
point X. Bus M then turns left from point X and moves 9 km till
point Y. Bus N starts moving from point A in east direction, after
moving 5 km, it turns left from point B and moves 8 km till point
C. Bus N then turns left from point C and moves 3 km till point D,
it then turns right from point D and moves 4 km till point E, it then
turns left from point E and moves 2 km till point Y.

Four are the same in a certain way thus forms a group. Which
among the following does not belong to-the group?

a) U-V
b) D-C
¢) A-B
d X-D
e) Y-E



Two buses i.e. bus M and bus N starts moving from two different
points and finally meet at point Y. Bus M starts moving from point
U in east direction. After moving 5 km, it turns right from point V,
it moves 6 km and then turns left from point W and moves 4 km till
point X. Bus M then turns left from point X and moves 9 km till
point Y. Bus N starts moving from point A in east direction, after
moving 5 km, it turns left from point B and moves 8 km till point
C. Bus N then turns left from point C and moves 3 km till point D,
it then turns right from point D and moves 4 km till point E, it then
turns left from point E and moves 2 km till point Y.

What is shortest distance between point W and point A?

a) Skm
b) 7 km
¢) 6Kkm
d) 8 km

e) 10 Kkm



Two buses i.e. bus M and bus N starts moving from two different
points and finally meet at point Y. Bus M starts moving from point
U in east direction. After moving 5 km, it turns right from point V,
it moves 6 km and then turns left from point W and moves 4 km till
point X. Bus M then turns left from point X and moves 9 km till
point Y. Bus N starts moving from point A in east direction, after
moving 5 km, it turns left from point B and moves 8 km till point
C. Bus N then turns left from point C and moves 3 km till point D,
it then turns right from point D and moves 4 km till point E, it then
turns left from point E and moves 2 km till point Y.

In which direction is point Y with respect to point A?

a) West

b) North-West
¢) North

d) East

e) South-West



If it is possible to make only one 4 letter meaningful word without
repetition of letter with the first, seventh, ninth and the eleventh
letters of the word ‘CONSTUPRATE’, which would be the second
letter of the word? If more than one such word can be formed, give
X as the answer. If no such word can be formed, give K as your
answer.

Ifd "CONSTUPRATE' 3752 &% Ugel, €Tad, A1 31K s 31&11@:
TR R QAU ok ToIAT Sharet Teh 4 awwmﬁa:ma?mm
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If it is possible to make only one 4 letters meaningful word
without repetition of the letter with the second, third, fifth and
the seventh letters of the word ‘SIMPLIFY’, which would be the
third letter from the left of the word? If more than one such word
-can be formed, give X as the answer. If no such word can be
formed, give K as your answer.

uﬁ'SIMPLIFY'm%a@ e, Tiere @i AT reR ¥ erer
REREINERCEICE R HER T TTSleh T ST H F, AT
3Te o TG & TGN STe EI AT FT? 1 W Uek § a7Feren v
TTT ST Hehel 8, af 37X o BT | X 0| If TAT 1S oTeg T2t
FATIAT AT THaT 8, ¥ 3707 ITWF I H K 2

a) F

b) L

¢) 1

d K

e) X



At a family gathering, there are 7 members present — A,
B,C,D, E, F, and G. B is the sister of E. C is the father of
G, who is spouse of A. F is the son of D, who is the mother
of G, who is female. E is the son of A. There are two
couples present at the gathering.

Ueh UTRATHh GURIE H, 7 GeEI IURAA S - A, B, C, D, E, F,
3R G. B, E AT 921 81 C, G &1 fuar 2, S A a1 Sraameft
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At a family gathering, there are 7 members present — A, B,
C,D, E, F, and G. B is the sister of E. C is the father of G,
‘who is spouse of A. F is the son of D, who is the mother of G,
who is female. E is the son of A. There are two couples

present at the gathering. -

Uk UTHETIYe HWNIE W, 7 HE SURYA € - A, B, C, D, E, F,
8ﬁ‘{GB E?ﬁa%?%IC G ST fuar 2, S A &1 3
Fqsr%Daﬁ St G B AT Y, M AR B E, A T B AATH
BT Iufte

How F is related to A in this gathering?
a) Father :

b) Brother-in-law

¢) Uncle

d) Father-in-law

e) Brother



At a family gathering, there are 7 members present — A, B,
C,D, E, F, and G. B is the sister of E. C is the father of G,
‘who is spouse of A. F is the son of D, who is the mother of G,
who is female. E is the son of A. There are two couples

present at the gathering. -

Uk UTHETIYe HWNIE W, 7 HE SURYA € - A, B, C, D, E, F,
8ﬁ‘{GB E?ﬁa%?%IC G ST fuar 2, S A &1 3
Fqsr%Daﬁ St G B AT Y, M AR B E, A T B AATH
B Iuted B

How C is related to A in this gathering?

a) Father

b) Brother

¢) Uncle

d) Father-in-law
e) Brother-in-law



At a family gathering, there are 7 members present — A, B,
C,D, E, F, and G. B is the sister of E. C is the father of G,
‘who is spouse of A. F is the son of D, who is the mother of G,
who is female. E is the son of A. There are two couples

present at the gathering.

Uk UTHETIYe HWNIE W, 7 HE SURYA € - A, B, C, D, E, F,
3ﬁ’{GB E?ﬁaﬁ%lc G ST fuar 2, S A &1 2
Fqsr%Daﬁ St G B AT Y, M AR B E, A T B AATH
B Iuted B

Who is the grandmother of E in this gathering?

a) C
) )
¢c) D
d G
e) A



Nine people work in three different departments Marketing,
Production, and Operations, such that at least two persons
-work in each department. Not more than four people work
in same department. B and E work in same department. H
and G work in same department but neither with A nor
with M. J, K and L work in same department. M works in
Operations. B does not works in Marketing department. A
works in production department not with L.

 { S-S forw T o, SeuTe R Sere | | T
HTH KA &, 39 Th Tcdeh [THUTT H HH A A I ATh hIH
A & Ueh &t fOumT W R & 3172k AT shiW T8 Shid| B 3R
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A & ATehT T al A o {1 A T & M o @10l J, K TR L Uk
2 foramT o s wed §| M STIReTd U R sh¥at 21 B fagur
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Nine people work in three different departments Marketing,
Production, and Operations, such that at least two persons
work in each department. Not more than four people work
in same department. B and E work in same department. H
and G work in same department but neither with A nor
with M. J, K and L work in same department. M works in
Operations. B does not works in Marketing department. A
works in production department not with L.

Who among the following works in different department?

a) M
b) K
¢) L
d J
e) E



Nine people work in three different departments Marketing,
Production, and Operations, such that at least two persons
work in each department. Not more than four people work
in same department. B and E work in same department. H
and G work in same department but neither with A nor
with M. J, K and L work in same department. M works in
Operations. B does not works in Marketing department. A
works in production department not with L.

B works in which department?

a) Operation

b) Production

¢) Marketing

d) Either operation of marketing
e) Either operation or production



Nine people work in three different departments Marketing,
Production, and Operations, such that at least two persons
work in each department. Not more than four people work
in same department. B and E work in same department. H
and G work in same department but neither with A nor
with M. J, K and L work in same department. M works in
Operations. B does not works in Marketing department. A
works in production department not with L.

Which of the following works in different departments?

a) Hand G
b) Band A
¢) KandJ
d) Mand G
e) Aand E



Nine people work in three different departments Marketing,
Production, and Operations, such that at least two persons
work in each department. Not more than four people work
in same department. B and E work in same department. H
and G work in same department but neither with A nor
with M. J, K and L work in same department. M works in
Operations. B does not works in Marketing department. A
works in production department not with L.

Which of the following statement is false?

a) H works only with G.

b) Only two people work in production department
¢) E and A works in same department

d) B and G works in different department

e) None of these



An uncertain number of people are sitting in a row facing
north and are at equal distance between them. S is sitting
-third from the extreme end. Two people are sitting between
S and F. T is sitting second to the right of F. A is sitting
immediately between E and F. Six people are sitting
between T and V, who does not sit at any end. Number of
people sitting to the right of G is same as the people sitting
to the left of E. G is sitting to sixth to the right of T. Two
- people are sitting between P and R who is sitting to the right
of V.
AT HEaT ¥ AT I fS9TT Y 3T 7 &t Uah Ui § 96
M STk AT AU T W S aﬁn@ﬁ'{@r?ﬁﬁ{wm%
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E o 918 3T 48 T o THE 21 G, T o 218 3R B TATT W
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An uncertain number of people are sitting in a row facing
north and are at equal distance between them. S is sitting
third from the extreme end. Two people are sitting between
S and F. T is sitting second to the right of F. A is sitting
immediately between E and F. Six people are sitting
between T and V, who does not sit at any end. Number of
people sitting to the right of G is same as the people sitting
to the left of E. G is sitting to sixth to the right of T. Two
people are sitting between P and R who is sitting to the right
of V.

Which of the following statements is true?

a) No people are sitting between P and T.

b) Vs to the immediate left of G. ,

¢) Only two people are sitting to the right of G.
d) F is sitting second to the right of S.

e¢) Four people are sitting to the left of A.



An uncertain number of people are sitting in a row facing
north and are at equal distance between them. S is sitting
third from the extreme end. Two people are sitting between
S and F. T is sitting second to the right of F. A is sitting
immediately between E and F. Six people are sitting
between T and V, who does not sit at any end. Number of
people sitting to the right of G is same as the people sitting
to the left of E. G is sitting to sixth to the right of T. Two
people are sitting between P and R who is sitting to the right
of V.

Number of people sitting to the right of A is same as to the
left of -

a) G

b) P

¢c) T

d S

e) R



An uncertain number of people are sitting in a row facing
north and are at equal distance between them. S is sitting
third from the extreme end. Two people are sitting between
S and F. T is sitting second to the right of F. A is sitting
immediately between E and F. Six people are sitting
between T and V, who does not sit at any end. Number of
people sitting to the right of G is same as the people sitting
to the left of E. G is sitting to sixth to the right of T. Two
people are sitting between P and R who is sitting to the right
of V.

How many persons are sitting between A and G?

a) Two

b) Four

¢) Six

d) Eight

e) Can't be determined



An uncertain number of people are sitting in a row facing
north and are at equal distance between them. S is sitting
third from the extreme end. Two people are sitting between
S and F. T is sitting second to the right of F. A is sitting
immediately between E and F. Six people are sitting
between T and V, who does not sit at any end. Number of
people sitting to the right of G is same as the people sitting
to the left of E. G is sitting to sixth to the right of T. Two
people are sitting between P and R who is sitting to the right
of V.

How many persons are there in the row?

a) 14
b) 20
¢) 17
d 9

e) 10



An uncertain number of people are sitting in a row facing
north and are at equal distance between them. S is sitting
third from the extreme end. Two people are sitting between
S and F. T is sitting second to the right of F. A is sitting
immediately between E and F. Six people are sitting
between T and V, who does not sit at any end. Number of
people sitting to the right of G is same as the people sitting
to the left of E. G is sitting to sixth to the right of T. Two
people are sitting between P and R who is sitting to the right
of V.

Who is sitting second to the left of A?

a) None

b) S

¢) T

d G

e) Can't be determined
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